O Find, in exact surg form, the only real solution of the following trigonometric equation

arcsin(21-1)-—-amcosx=%—. Ct2d
@ Solve each of the following trigonometric equations.
) tanf(l+cos26)=2sin220, 0<g<90° LSy
b) 4tan2p+3cotpsec’p=0, 0<p<2z ' B
@ - Solve each of the following trigonometric equations.
il a) cos(0#+30°)=sinf, 0<O<360° (2)
b) 3cos(x+30°)=sin(x—-60°),  0<x<360° C2)
0 sin(y—30°)=sin(y+45°), 0<y<360° C2)
=| d) sin(p+30°)=cos(p-45°), 0<@<360° C2)
l ) cos(@-60°)=cos(@—45°), 0<a<360° C,':.} "
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